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1.  Using the following data

x (feet)) 0 10 20 30 40 50 &0 70 80
d (feet)| D 4 y 9 | 12| 15| 14 | 8 3

1
by the simpson’s 5 rile, the area is 710 sq. feet. What is the value of y ?

@ y=465 by y=6 (@ y=75 d y=7
Answer options :
(1) (a)and (b)only {Z) only (c) (3) only (a) (4) only (d}

2. At what values of A and p the system of equation x+y+z=6, x+2y+3z=10,
x+ 2y + Az=p has unique solution ?

(a} A=3, n=xl0 {b) A3, pnzl0

{c} A3, =10 {d) A=3, n=10

Answer options !

(1) (a)only (2) (a) and {d) only (3) (b)and {c) only (4} (d)only

Awv) 3y _,
S TP Rk T

(a) -1 b 1 (¢) zero (d) 2
Answer options :
(1) (a) only (2} {a)and (b) (3) (b)only (4) (d) only

The Particular integral of(D2+6D + 5y =4 e~ % is equal to ?

(a) 4e”? ty xet () xe™* (d) de*
Answer aptions :
(1} {a)only (2) (d) only (3) f(a)and (d) only (4) (c)only

5.  If the scalar field f=k%x%y —y® and V2 f at (0, 1) is equal to zero. What is the value of k 7

(@) 0. 28 (by 280 (€ 27247 {d) 28, —28
Answer options :
(1} {(a)and (b)only (2) (d)only (3) (c)only (4) (b)only

SPACE FOR ROUGH WORK

P.T.O.
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1 2 -2
6.  Whether the row vectors of the matrix A=|—-1 3 0 | are linearly independent or
0 -2 1

dependent :

{1) All row vectors are linearly dependent
(2)  All row vectors are linearly independent
{3) Two rows are linearly independent

{4) One row is linearly independent

7.  What is the positive root of ¥* —x =10 by Newton-Raphson method ?
(1) 1.8533 (2) 1.8433 3y 1.8555 (4) 1.8055

2 0
8. IEA=| ;| then AlWis:

(5100 g ol00 o 100 0 0]
EVR N 1] @) [0 1] (3 L 1] (4) L 2100}

9,  Ratio of the maximum bending stress in the flange to that in the web of an I section at any
distance along the length of a beam is always :

(1} Less than one (2} Equal to one
{3) More than one (4) No relationship exists

10. Where does maximum shear stress occur in a rectangular shaft subjected to torsion ?
{1) centre (2) corners

(3) middle of smaller side (4) middle of tonger side

11, A simply supported beam of span ‘L’ supports a concentrated load ‘W’ at mid-span. If
the cross-section of beam is an I-Section, then the length of elastic-plastic zone of the
plastic hinge will be :

{1y L/3 {2) L/4 (3) L/2 {4) 3L/4

SPACE FOR ROUGH WORK

Downlooded From — www.infinitycivilacademy.com

7)) Engineering *Academy



A 5 NO2

12. What is the greatest ecceniricity which a load "W’ can have without producing tension on
the cross section of a short column of external diameter ‘D" and internal diameter ‘d’ ?

D+d o (D —ah D24d? D2—g?
M ep (2) TaDd (3) 5D (4) D

13. In LSM a balance beam section is defined as one in which -
{1} Both steel and concrete reach their maximum permissible stress simultaneously
{2) The stress in steel and concrete is same
(3) Both steel and concrete reach their maximum permissible strain simultaneously

(4) The beam section balances the load perfectly

14.  As per IS: 800—-2007., A bolt required to resist both design shear force (Vsd} and design
tensile force (Tb) at the same time shall satisfy

Vsd \ Tb V¥ Vad Tb
22 |22 <10 = —[=2.] <10
{1 [de) (Tdb] = (2) [deJ [Tde =
2 2 2 2
Vsd Tb Vsd ) Tb
220 4= =10 220 1 2| =10
3) [de] [Tdb] @) [de, [Tdb}

Where,  Vdb=design shear capacity

Tdb = design tension capacity

15. What is the strain energy stored in a rod of length ‘L’ and axial rigidity AE due to an axial

force ' ?
2 2 2 2
P“L P-1. P“L L
1 2 —— 3 4
( ) AE 2) 2 AE ) 3 AE ) 4 AE
SPACE FOR ROUGH WORK
P.T.O.
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16. Match List-l (Type of structure} with List-Il (statical indeterminancy) and select the correct
answer using the codes given below.
Where m=no. of members
j=no. of joints

r=no. of reactions

List-1 List-11
(a) Rigid jointed plane frame {y (m+r)—3
(b)  Pin jointed space frame (i) (6 m+1)—6f
{c) Rigid jointed space frame (i) (6m+r)-—3

iv) (3 m+r)—3

Codes :

(@) (b} (e
1

) 0 ()
) Q) (i) ()
3y () () i)
4 () @ ()

17. What is the maximum admissible slenderness ratio of steel column subjected to dead and
live load only ?

(1) 120 (2) 180 (3) 250 (4) 350

18. Which allowable stress governs the permissible bending capacity of a structural section ?
(1)  Bending compressive stress
(2) Tensile stress
{3) Bending tensile stress

{4) Bending compressive or bending tensile stress

19. If a circular shaft is subjected to a torque “T" and bending moment ‘M’, the ratio of:
maxitmum bending stress to maximum shear stress is

M M M 2T
m @ 37 e = @

SPACE FOR ROUGH WORK
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20. What does a parabolic cable subjected to a umiformly distributed vertical load over the
entire span, develop ?

(1} Zero axial force (2) Large bending moment
(3) Zero bending moment (4) Minor shear force

21, What do three hinges in an arch make it ?
(1) Statically unstable structure
(2) Statically determinate structure
(3) Geometrically unstable structure
(4) Indeterminate structure

22, Where is the bending stress on a beam section zero ?
(1) Depends on the shape of the beam
(2) Top fibre
(3) Bottom fibre
{4} Ceniroid of the section

23. What is the shape of influence line diagram for the maximim bending morment in a simply
supported beam under udl ?

oy

(1) Rectangular {2) Triangular {3} Parabolic (4; Circular

M. If f, and f, are the cube compressive strengths, of concrete and yield stress of steel
respecnvely and E_ is the modulus of elasticity of the steel for all grades of concrete, what
can be taken as the ultimate flexural strain in concrete ?

1) 0.002 (2) 1%%‘5 (3)  0.0035 (%) %m.ooz

25. The profile of the centroid of the tendon is parabolic with a central dip 'h’, effective
prestressing force ‘p’ and the length ‘L". What is the equivalent upward acting uniform
load ?

ShL 8hp 8 h’L 8h
m = @ T2 (3 4 -

h’p
P L

SPACE FOR ROUGH WORK

P.T.O.
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In the limit state design, the maximum limit on redistribation of moments in statically
indeterminate beam is -

1) 15% {2) 25% (3} 30% 4, 10%
27.  What should minimum width of lacing bar be if the 20 mm rivets arc used in lacing
bars 7
(1) 40 mm (2y 60 mm (3} 80 mm {4 20mm
28. What is Kanis method based on ?
(1} Moment Distribution method
(23 Column Anélogy method
(3) Method of Consistent Deformation
(4) Strain Energy method
79. What will be the circumferential stress developed in case of thin cylindrical pipe with
diamcter ‘d’ and thickness ‘t’, subjected to internal pressure p’ ?
pd pd B T
T o @ * @ =
30. What can effectively counter balance uniformly distributed ioad on entire span on a
prestressad concrete beam ?
{1) concentric cable (2) an eccentric cable
{3) a parabolic cable (4) none of the above
31. The ratio of the plastic moment capacity to the yield moment of a section is always :
(1}  Less than one {2} Equal to one
(3) More than one {(4) None of the above
32, What is the minimum percentage of reinforcement in R.C. Slab with (HYSD) bars ?

(1) 012 (2) 0.15 {3)  0.20 (4) 025

SPACE FOR ROUGH WORK

C#) Engineering *Academy
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33. The partial safefy factor appiied to the reinforcement in the design of RC structures in the
linit state of strength is :
{1) 1.15 (2) 1.50 (3) 0.87 (4) Equalorlessthanl1.0
34. The flow net of earth dam gave the distance to the directrix from the focus as 5 m and
coefficient of permeability of soil is 310~ % em/s. What is the quantity of seepage per
unit length of dam in m3/s ?
{1} 1.5x10°3 {2) 15x10°3 3 15%10°3 (4 15x10°4
35. A circular pile of 30 cn diameter and 7 m length passes through a recently filled up
material of 3.5 m depth. . The unconfined compressive strength of the soil is 60 kN/m?.
The -ve skin friction of the pile is :
1) 110 kN (2) 330 kN 3) 99 kN (4) 198 kN
36. Maich the pairs for safe bearing capacity :

(a) Moist clay which can be indented (i) 245 kN/m?

with strong thumb pressure

{(b)  Soft Rock (ii) 150 kN/m?
(¢} Medium sand, compact and dry (i) 100 kKN/m?
(d) Fine sand, loose and dry (iv) 440 kN/m?

@ O (o (@
1) gl @) @ Q)
2 @ v @O (@)
(3) ) fGv) @) @
(4 (@) @ Gv) @)

SPACE FOR ROUGH WORK

P.T.O.
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37.  Match the following :

(a) Pneumatic tyre roller (i)  Static compression

(b) Sheep foot roller {ii) Eccentric weight rotation
(¢} Smooth wheel roller {iiiy Kneading action

(d) Vibratory roller {iv; Tamping and Kneading

fa) () () (d)
1) (i) @ (v) (i)
2 () @) O (i)
(3) (v) ) @ @
4) @) (v) & @)

38. What are the factors influencing cost of soil investigation ?
{a) non uniformity of layers (b) undisturbed sampling
{c) depth of exploration (d) nature of project
Answer options :

(1) (a) and (b} (2) (b)and () (3) {c}and (d) (4) All the above

39. While carrying out stability of slopes, by using the method of slices, it was noticed that for
a 10 m high slope, the length of circular arc was 30 m. The sum of shearing forces 500 kN
and uncenfined compressive strength of soil was 30 kN/m2. Assuming unit weight of soil
as 20 kN/m? what will be the factor of safety with respect to cohesion ?

1) 15 @ 1.2 @) 1.0 @) 0.9

40. TIn which method of site exploration, soil and rock formations are broken by repeated
blows of heavy chisel or bit suspended by a cabie or drill rod ?

(1) Rotary boring {2) Percussion boring
(3) Wash boring {4} Aupger boring

SPACE FOR ROUGH WORK
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41. Match List - T (giving method of estimation of pile capacity) with List - II (parameters to
be estimated), and select correct answer using codes given below -

List -1
(a) Dynamic formulae (i)
{b) Static formulae (if)
ic}  Pileload test (iii}
{d)  Cyclic pile load test {iv)
Codes :

(@) (b) (o) (&
() @) (v) (i)
(iv) () @il @)
GH) () (@) (D)
(iv) @ @) @

—_—

List - I
Bearing capacity of cost in situ piles

Separating end bearing and friction hearing
capacity of pile

Bearing capacity of timber pile

Settlement of friction bearing pile

42. Match List - I {type of foundation) with List - II {use of the foundation} select correct
answert, using the codes given below :

List - I
(a) Floating piles (i)
(b}  Micro piles (i)
() Combined footing (iid)
(d) Under-reamed piles {iv)
Codes :

(1)
(2}
{3}
(4)

@ ® (& (&
i) () @) (i)

() (v} @ (i)
fwp @ () @)
i) (v) @ ()

List - I1

Closely spaced columns resting on
compressible soil.

Expansive soils
Deep soit clays
Loose sands

SPACE FOR ROUGH WORK

C#2) Engineering *Academy
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43. Match List - I with List - IT and select the carrect answer using codes given below :

List«1 List - TI

(Field Test) {Parameters measured)
(a) Plate Load Test i) Tctal and frictional a resistance
(b) Standard Penetration Test (i) Leoad intensity and settlement values
(c) Static Cone Penetration Test (iif) Ned values

{d) Dynamic Cone Penetration Test (iv) SPT values
Codes :
{a) &) (& ()
1y @) vy () ()
(2) A{w) @ (i) (1)
3) () (wv) () (i)
{# ) ) () @)

44. If correct value of cohesion of highly soft clay is to be determined choose the correct type
of test that should be carried :

(1}  Direct shear test {2) Triaxial shear test

(3) TField vane shear test {4) Laboratory unconfined compression test

45. Match the following :

{a} 5SM {i) Clay with intermediate plasticity
(b} MH (i} Poorly graded gravel

) GP (i) Silty sand

d I (iv) Silt of high compressibility

(a) (b) (e} (d}
O Gy @ @) @)
@ i) @) @ @
(3 (v G) (@) @
(9 @) ) @ @

SPACE FOR ROUGH WORK
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46. Match the following :

(a)
(b)
()

List -~ I

{Soil property)
Void ratio

Uniformity coefficient

Porosity

Answer oplions :

{1
(2}
{3}
{4)

@ b ©
6 6 )
(i) (i) (i)
CONICI
CINCICE

13 NO2

List - I

{Range of «oil property)
{iy  Always more than one
(iij Can be more than one

(iii) Always less than ore

47, 1f back fill of a smooth backward vertical wall & m high carties a uniformly distributed
foad of 60 kN/m? and back fili soil has ¢ = 30°, the active earth pressure due to uniform
surcharge is

(1)

160 kN/m2

48. Match the following :

(a)

{b)

{c)
(d)

(1)
(2)
(3)
(4)

Plasticity Index

Consistency Index

Liguidity Index

Toughness Index
(@ {b) (o)
Gv) (i ()
@ @ @)
(v) i) (i)
(v) & @D

SPACE FOR ROUGH WORK

) 20 KN/ P (3) 216 kN/m?  (4) 30 kN/m?
o bwew)
(i) Ip
IW_ .
i) | I:P)
'WN' W
(i) l——’—Ih ?)
(IV) (WL_Wp}
(d)
(iif)
{iii)
(i)
(i)
PT.0.
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49.

14

Yield of a drainage basin is generally expressed as :
(a) Total volurme of water flowing per year

(b) Total volume of water stored in a day

(c) ‘lotal volume of water flowing per day

(d) Discharge in a day

Which of the above given statement, is/are correct ?

(1) (a) only (2) (b)only (3) {cjonly (4) ({(c)and{d)only

50. Hagen - Poiscuille equation for laminar flow in the circular pipes is given as :
32 1 VL 128 p VL 04 n VL 64 p VL

(@) B2 (b) b2 () o2 @ ~

Which of the above given statements is correct ?

(1) (=) only ) () only () (© only () (d)only
51. A streamline is a line

{1) Which is norrmal to the velocity vector at every point

(2) Which represents lines of constant velocity potential

{3) Which is normal to the lines of constant stream function

(4) Which is tangental to the velocity vector everywhere at a given instant
52. The double mass curve technique is used for

(@) Determination of average annual rainfall

(o) Determination of cumulative rainfall

(c) Checking the inconsistency of a record of rainfalt data
{d) Measurement of effective rainfall

Which of the above given statements is/are correct 7

(1) (a) only {2} (a)and {b) only
{3) {c)only (4) (o) and {d) only

SPACE FOR ROUGH WORK

C*7) Engineering ' Academy
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53. Match the following :
List- I List - II
{a) Reynolds number {ii, Inertia force and elastic force
(b)  Froude number (i) Inertia force and surface tension
{c} Weber number (iii) Inertia force and Gravity force
{d) Mach munber {
Codes :
(@) {b) () (d)
1 6 ) @) {w)
@ v G @ 6
@ @ @ 6
@) (v) @} (h @

iv) Inertia force and viscous force

54. As per Lacey’s theory, the silt factor is :
{1) directly proportional to average particle size
{(2) inversely proportional to average particle size
3} directly proportional to square root of average particle size

(
(4) not related to average particle size

55. When the pipes are connected in parallel, the total loss of head ?
(1)  is equal to the sum of the loss of head in each pipe
(2) is same in cach pipe
(3) is equal to the reciprocal of the sum of loss of head in each pipe

{4) none of the above

56. According to Lacey, the bed slope ‘S for a regime channel is given by :
(1) f¥3/3340 QY2 (2) fF2°/3340 Q12
(3)  f%/3/3340 QU/0 (@)  F1/5/3380 QV/6

SPACE FOR ROUGH WORK

P.T.O.
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57. Levees are constructed :

{1) Parzllel io the river flow

(2} Transverse to the river flow

(3] At some inclination to the river flow

(4) Sometimes parailel and sometimes transverse

axremap,

58, if the R.LS of canal bed level and high {lood level of drainage a@ m and 210.0 mn
respectively, then cross drainage work will be .

(1)  aqueduct (2} superpassage {3) syphon {4} Syphon aqueduct

59, What is a drag {orce a function of ?
(@) Projected area of the body
(b} Mass density of the fluid
{c) Velocity of the body
The correct answer is.

(1) (a) and {b) (2) (2) and (c) (3} (b) and (c) (4} {a), (b} and ()

60, The maximum elevation to which the water surface will rise int the reservoir during desiym
flood is known as :

a) Full reservoir level

(
(b) Maximum water level
(€)  Normal pooi level

(d) Full tank level

Which of the above given staternents is/are correct ?

(1) (a) only (2} (b)) only 3) (©eonly (4) ({¢)and(d)only

61. What is the hydraulic radius ‘R’ equal to for a hydraulically efficient triangular channel
with a depth of flow, 'y’ ?

1 22y (2)

ha |

1
3 Iy © 55

SPACE FOR ROUGH WORK
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62. Tn a solid-roller bucket.type of energy dissipator, the energy dissipation s :
(1) due to formation of a hydraulic jump
(2)  due to interaction of the free jet with air and due to impact on downstream bed
(3) due to interaction of two complementary rollers

(4)  partly due to lateral spreading of the jet and partly due to interaction of two rollers

63. 0.5% of diluted raw sewage sampte was used in a BOD test. The dissolved oxygen was
found to be 8 mg,/L and 5 mg/L at the beginning of BOD test and after 5 days of incubation
al 20°C respectively. BODg at 20°C of raw sewage is :

(1) 150 mg/L (2) 1500 mg/L (3) 60 mg/L {4) 600 mg/L

64. What is Dissolved Oxygen (DO) saturation level in fresh water at 0°C assuming that
chloride concentration is zero {0 mg/lit} ?

(1) 763 mg/lit () 1000 mg/lit  (3) 1462 mg/lit (4 917 mg/lit

65, The sand used in rapid sand filter has effective size between .
(1) 0.2 to 03 mm (2) 0.8 to 0.95 mm
(3) 0.1 to 0.20 mm {(4) 0.35 i 0.60 mun

66. Match List - I with List - II and select correct answer using codes given below the lists,

List -1 List - 11
(Equipment) (Pollutant removed)
(a) Bag house filter (i) Coarse particles
(b}  Electrostatic precipitator (i)  Fine dust
(c) Adsorbers (i) Sulphur Dioxide
(d} Wet scrubber {iv) Gas

(@ () { (@
1 & G @) (v
2) @ @ (v} (u)
(3) () @ () )
(4 @ @ (v (i)

SPACE FOR ROUGH WORK
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67.  Which of the following factors affect disinfection process by chlorination ?

(a)
(b}
{c)
(d)
(e)
()
{1}
(3)

Form of chlorine
pH
Concentration
Contact time

Type of organism

Temperature
(@), (b), (d) and {e) {2) (@) (o). (d) and (1)
All of the above (4) None of the above

88, Match the following

(a)
(b}

Dust particles i}  Death by asphyxiation
Hydrogen Fluoride (i) Asthama

CO (i) Mottling of teeth
Pollens (iv) Silicosis

@ ((® (& @

@ W Gv) (D

@) G O @

v) i) @) ()

@ v 0 @

69. Which of the following methods can be adopted for proper disposal of rubbish ?

1
(3)

Composting (2) Sanitary land fill

Incineration (4) Non-engineered land fill

70. Aerosolisa.

(1)
2
()
(4)

dispersion of small solids in liquid media
dispersion of small solids or liquid particles in gaseous media
finely divided particies of smoke

dispersion of liquid particles

SPACE FOR ROUGH WORK
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71. Match the following :
{a) Gravitational settler {i) 50-90% removal efficiency of P.M.
(particulate matter)
(b} Electrostatic precipitator {fi) > 99% removal efficiency of P.M.
(¢) Fabric Filtration {iii} < 50% removal efficiency of P.M.
(d} Centrifugal collector {iv) 95-99% removal efficiency of P.M.
(@) () (o (d)
Q) { @ v ()
@ @) @) @ @
3 O @) G ()
@ @y v) @ O
72,  The moisture content of raw sludge is 99% and it is thickened to 10 percent solids content.
Then the :
{1} volume of raw sludge is 1.1 times that of thickened sludge
(2) volume of raw sludge is ten times that of thickened sludge
{3) volume of raw sludge is nine times that of thickened sludge
{(4) volume of raw sludge is 9.9 times that of thickened sludge
73. Consider the following statements related te noise pollution :
{a} Silence zone is 100 m distance from institutions, hospitals etc.
{b} Sound beyond 80 dB harms human hearing system
{c) Noise from automobiles is measured at 2 m free field distance
Which of the above statements are correct ?
) @and(t) @ Handl G @and() @) @ Hand @
74. Theliquid that perlocates through solid waste and extracts dissolved or suspended materials
from it, is known as :
(1) Sewage (2) Sullage (3) Waste water (4) Leachate
75. Temporary hardness of water is also known as :

(1) Carbonate hardness (2) Non-carbonate hardness
(3) Calcium sulphate hardness (4) Magnesium chloride hardness
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76.  What is the Decibel (dB) value of sound during normal conversation ?

(1) 0dB (2) 20dB (3) 80 dB (4) 60 dB

77.  In sewage treatment, the horizontal flow grit chambers are designed to maintain a velocity
very near to -

() 0.3 m/s (2) 09 m/s (3) 1.0 m/s {(4) 1.2 rm/s

78. Group I contains parameters/property of bitumen and Group Il lists methods/

Instrument
Group I Group K
{P) Softening point (i DPycnometer
(L} Flash and Fire point (ii} Pensky Martens closed cup
{R) Grading of Bitumen (iif)y DPenetrometer
(S} Specific Gravity (iv) Ring and Ball

The correct match of Group I with Group II is :
(F) (Q) (R) (5

) 0 @ ) (

2y (iv) ({ili) (i) (@)

) ) (i) (i) (

4 @ ) 4y

79. In a district where the rainfall is heavy, a state highway of cement concrete pavement,
7.0 m wide with a ransverse slope of 2.0% is to be constructed. The height of the crown
with respect to the edges is

1) 1.750 cm (2) 17500 cm (3) 0.007 m (4) 0070 m

80. Two major roads with two lanes each are crossing in an urban area to form an uncentrolled
intersection. With X as the number of conflict puints when both roads are one way and Y
when both roads are two-way what is the ratio of Y to X" ?

(1) 3.0 @ 2.0 (3) 1.0 (4) 4.0
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81. What is the frictional stress developed at the bottom of rigid pavement slab, in the winter
season ?

(1} Compressive stress

(2) Tensile stress

(3) Both Compressive and Tensile stress
(4) None of the above

82. What is traffic density ?
(1} No. of vehicles moving in specific direction per hour
{2)  No. of vehicles moving in specific direction per {ane per day
{(3) No. of vehicles per unit length

{4) No. of vehicles passing a given point in one hour

83. Inanurban area, it is proposed to provide 90° angle parking. The availabie length of kerb
is 10010 meter. How many parking spaces will there be available ?

(1) 410 (2) 400 (3) 415 4) 425

84. How many nurnber of crossing conflict points are there on a right angled road intersection
with two-way raffic ?

(1) 04 ) 08 (3) 16 (@) 24

85. Tentative Equivalency factor suggested by the LR.C for bus, truck and agricultural
tractor-trailer unit is

1y 1.5 ) 2.0 3) 2.5 4y 3.0

86. A compound curve consists of
(1) Proportionate super elevation (2) Curves with different radius
(3) Combined horizontal curves (4) Two circular curves of different radii

87. If an equation is subtracted from a constant k, the weight of the resulting equation witl

(1) weight of equation divided by k

(2} weight of equation multiplied by k

(3) weight of equation multiplied by k2

(4) weight of equation remains unchanged
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88. In theodolite traverse computations, Gales table is useful for determination of
(1) Independent co-ordinates (2) Dependent co-ordinates
(3) Both (1} and (2) (4) None of the above

89. The representative fraction (R.F) of scale 1 cm = 500 m is :
(1) 1-500 (2y 1 5000 {3) 1 50000 (4 1:50

90. The magnetic bearing of sun at noon was 170°. Hence magnetic declination is .
(1) 1°E (2) 1w (3) 16°5 (4 10°N

91. A back sight reading on B.M =200 m, was 2.250 m. The inverted staff reading to the
bottom of & beamn was 1.450 m. The R.L. of bottorn of beam is :

(1)  200. 800 m 2) 201 450 m (3)  201. 000 m (4)  203. 700 m

92, A tower is sitnated on the far side of the river and is inaccessible. But it is visible. It can be
located by :

(1) Radiation {2) Traversing (3) Intersection (4) Resection

93. The ratio of tensile strength to compressive strength of concrete is about
(1) 1/5 {2y 1/10 3y 1/2 (4) 1/20

94, At what height non-combustible material shall be used in construction of a building ?
{1) 20 mabove {2) 15 m above {3) 30 m abowve (4) 25 m above

95. The minimum aggregate area of openings, excluding doors in residential buildings in wet
hot climate shall not be less than :

1 1

1) Iﬁth of the floor area (2) gth of the floor area
1 1

(3 gth of the floor area (4) Eth of the floor area

96. What is the main constituent in fire proof paints ?
(1) Aluminium powder {2} Red lead
(3) Copper powder {4) Asbestos fibres
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97. A brick moulded with a rounded angle is called as -

(1) Bullnose {2} Horse nosc (3) Cow nose (4) Donkey nose

98. The guidelines for Concrete Mix Design are covered in -

(1) IS: 102621982 (2) 1S.14272-1985
{3y 15.10272-1983 (4) IS - 14273-1985
Y9. A rough estimate of the quantity of dynamite required in grams for blasting rocks is given
by !
(1) L2/0.008 (2) L2/3/340 (3} L?/500 (4) 1./250

100. Lean to Roof is suitable for the span
{I) upto1l5m {2) upto25m {3) upto 3.5 m {4) upto4.5m

-0fo-
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